Practice questions — Year 5 and 6 — Multiplying decimals by decimals

. 24.8 x 3.6 = (multiplying decimals by decimals)
89.3 x 2.4 = (multiplying decimals by decimals)
47.2 x 5.6 = (multiplying decimals by decimals)
78.6 x 2.9 = (multiplying decimals by decimals)
39.5 x 3.3 = (multiplying decimals by decimals)
92.4 x 4.2 = (multiplying decimals by decimals)

58.7 x 6.3 = (multiplying decimals by decimals)
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. 86.2 x 2.7 = (multiplying decimals by decimals)
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Practice question answers — Year 5 and 6 — Multiplying decimals by decimals

24.8 x 3.6 = 89.28 (multiplying decimals by decimals)

89.3 x 2.4 = 214.32 (multiplying decimals by decimals)
. 47.2 x5.6 =264.32 (multiplying decimals by decimals)
78.6 x 2.9 =227.94 (multiplying decimals by decimals)
39.5 x 3.3 = 130.35 (multiplying decimals by decimals)
92.4 x 4.2 = 388.08 (multiplying decimals by decimals)

58.7 x 6.3 =369.81 (multiplying decimals by decimals)
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. 86.2x2.7=232.74 (multiplying decimals by decimals)

+]-]x]=

© Arithmetic Hub. All rights reserved. Arithmetic Hub



